Write the following word problems of missing addends
to 10

1. John has 6 apples. He gives 4 apples to his friend. How many
apples does John have left?

Answer: 6-4 =2

2. Sarah has 5 marbles. She found some more marbles and now
has 10 marbles. How many marbles did Sarah find?

Answer:.

3.There are 3 red balloons and some blue balloons. If there
are 10 balloons in total, how many blue balloons are there?

Answer.

4. Emily has some stickers. She has 7 stickers in her collec-
tion, and she wants to have 10 stickers in fotal. How many
more stickers does Emily need to reach her goal?

Answer

5. Tom has 6 oy cars. He bought some more toy cars and now
has 10 toy cars in total. How many toy cars did Tom buy?

Answer.
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